ARBEITZIMMER N | g e L i
F=11.15m | —

we/ou F=17.60m>x0.5=8.80m?
F=9.20m?

WHG 13
179.45m?

v

WOHNEN F=42.25m?

el Lo

DIELE F=9.20m?

ZMMER  F=16.00m? -

WHG 13
179.45m? !

HAUS 2 | StG | WOHNUNG 13 | 4 ZIMMER

l:l o Schlafzimmer 21.35m?
(OOl * Zimmer 16.00 m2
ol @) o Arbeitszimmer 11.15 m?
|:| * Wohnen 42.25 m?
e e Kiiche/Essen 25.20 m?
- e WC/DU 9.20 m2

S * Gaste WC 4.10 m?
= e HWR. 6.45 m?
* Diele 9.20 m?

 Garderobe 0.85 m?

 Balkon 8.80 m?

* Terrasse 25.00 m?

179.55 m2

]
LT ]

. TERRASSE
¥ F=50.00m?x0.5=25.00m?

HélkenstraRe




